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SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
09 HAIAHIBEAZ 18,720 8,760 9,960
OHIOIZEHA 18,720
OBEIX Z2ME 10,720
-8 AKX 2,000,000 * 1H x 23] 4,000
-2 HAZ 400,000& * 6 * 23| 4,800
-Ab3| AH 400,000 * 1H * 23] 800
-2UEY 20
70,0008 * 4% % 22 x 23] 1,120
otg 2ME 3,960
-8 AKX 2,000,000 = 1 2,000
-XtAH & gl 1,000,000& * 1& 1,000
-AFS| AH 400,0008 * 1 400
-2 =20 70,000& = 4H * 2L 560
Onmgx sEgetsg 1,140
-8 AKX 1,000,000& = 1H 1,000
~RUHAE =20 70,000& = 29 140
OOt B4 2,900
-AFE| AH 400,000& * 1€ * 23| 800
-R2UAE S0 70,000& = 6YH * 53] 2,100
V=R - 2sSESE24A2 2,080 714 1,366
OUEE2ANME =& 8,000& = 65YH 520
OZax SE3S23 2| 8,000& * 65Y 520
OOt 2 S Hl 8,0008 * 656YH x 23] 1,040
NEREY =34 96,120 94,960 1,160
201 Bt A H| 56,000 55,000 1,000
03 #AF2 bl 56,000 55,000 1,000
0223 56,000
OMZ L Xyl 41,000
-2UHANE H& &X 10,000,000& = 13| 10,000
-XAYHHH X, 2SS 5,000,000& * 13 5,000
-BHE S A & 3,000,000& = 13| 3,000
-SolA M 20,000,000& * 13| 20,000
-SHEH 100,000& * 30 3,000
OALE & HAEAH 2,200,000& = 13| 2,200
OTVA T 271 2 A ALK Z
4,800,000& = 13| 4,800
OEEE HME(QIME, 82X S)
8,000,000& = 13| 8,000
301 dEtEAZ 40,120 39,960 160
09 HAIAHI B AZ 39,800 39,680 120
o=2g2d9 39,800
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=UZ=(22= cU0des 28)
3,000,000& = 1H 3,000
Oothe ¥ H=X 8,000,000& » 1H 8,000
OS89 %= =g(BE AFL, 534 S)
20,000,000& * 1H 20,000
OU X (=Y, o &) 4,000,000& = 29H 8,000
O AL Rt 800,000& » 1H 800
Vo=t - 2SRES243 320 280 40
O0=23% =&l 8,000& = 409H 320
ANEREH I, 182 98,140 95,320 2,820
201 Let24dH] 76,400 70,300 6,100
03 A2 S HI 76,400 70,300 6,100
OFIEA 53,000
OHMZ 2 & Xtd| 40,000
-SFUHAME HZEH, &X 4,000,000& = 13l 4,000
- XYY YX,2E 5,000,000& = 13l 5,000
- &M HI & 20,000,000& = 13l 20,000
SSOUHMA (R MR AFN, 584 S)
5,000,000& = 13l 5,000
-HH & F A HIE 3,000,000& = 13l 3,000
-SHEE 100,000& * 30 3,000
OAtal & & 2,200,000& = 13l 2,200
OTvAZH 210 & FAHE
4,800,000& = 13l 4,800
OZEE MHE(UMS 2K S)
6,000,000& =+ 13l 6,000
oJ18 3¢ 23,400
OMZ & Xyl 18,000
-SUHNE HZ,4X 6,000,000& = 13l 6,000
- X TH X, 2E 4,500,000& = 13l 4,500
- & I & 6,000,000& = 13l 6,000
YA ME L D YR, 28
1,500,000 = 13l 1,500
OME &2 SaEH 1,400,000 * 13| 1,400
OEE2E ME(8sY, 2ME 5)
4,000,000& = 13l 4,000
301 g2 d= 21,740 25,020 A 3,280
09 SALAHIEA S 20,460 24,180 23,720
o¥II=sHA 17,960
ORUZ=Ss(2LSs 2PUHMEEs XLEH
3,000,000& » 1H 3,000
o= 5,000,000& = 1H 5,000
OFLEE-—J%:DN; 3,000,000& » 29H 6,000
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SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
W= - 2s2SE242 3,360 2,100 1,260
OOt 3% =&
8,000& * 30¥ = 104 2,400
O3l ADA EHEFX 2|
8,000& * 40YH * 34 960
Agoss J8z3dH 95,000 0 95,000
201 Bt H | 47,896 0 47,896
03 At L ] 47,896 0 47,896
OEZ2 MHH 2ZME(3Y,35329) 47,896
OLRUEX(2H,.88,x9 5)
40,000,000& * 13 40,000
OTVA TR &2 1 3,500,000& = 13| 3,500
OEZEEHI(EHIIE,QIME S)
4,396,000& * 13 4,396
301 dBtE A= 47,104 0 47,104
09 HAIAHI EA = 45,040 0 45,040
OE2 MM 2AHE(3Y,3829) 45,040
OEHX(UHEIt=) 13,000,000& * 2& 26,000
Ooorzta = 2,000,000& * 4% 8,000
OHIA&E=A 9,000
-UH +u3 500,0008! * 6% 3,000
-4 HRZ 400,000 * 159 6,000
oA =20 70,0003 * 49 = 3¢ 840
O A3 X+ 400,000 * 1 = 3« 1,200
W= - 22242 2,064 0 2,064
OE2 M 2MHE S &I 8,000& * 2589 2,064
Sl 8432 /s Ald Dt =4 1,257,846 1,595,382 A 337,536
= 107,740
Al 1,150,106
S0 A& 22 406,840 496, 368 A 89,528
201 LEt2 Y| 137,192 137,269 NTT
02 332494l 137,192 134,943 2,249
Oll=2d8Y =XZHMAIAE FA22
149,498,000 * 8% 11,960
OZ20 A& CCTVAIAE KXl
280,833,000& * 7% 19,659
O20AIE SXNEX (s MG 2MA) 105,573
Olls2 dY 4,162& = 19,740.91m 82,162
OFF0E= 4,7543 * 3,000.74m 14,266
OFF=2st 4,7543 * 1,923.5m 9,145
401 Al HI L 2 0HHI 269,648 356,999 N 87,351
01 A& HI 269,648 354,983 A 85,335
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Olzs2dg AR 24 wH & 2= 22
=S At 63,352
O3 Atdl 60,000,000 = 10024 60,000
O & Al 60,000,000& = 9.31% * 60% 3,352
Ol=2ddY 2=AlE B L WS A 84,575
O3 AtH| 80,000,000& * 1JH A 80,000
O & Al 80,000,000& = 9.53% * 60% 4,575
Ou=dY Xat=XE =7 HEI3A 41,721
O3 Atd| 40,000,000 » 10H 2 40,000
O& Al 40,000,000& = 7.17% * 60% 1,721
ONEAHY EIAL TM U FHIBM
20,000,000& * 10H A 20,000
OFMAE =3 & S#ZEHI
60,000,000 = 10024 60,000
S0 A& 22l 385,766 558,618 A 172,852
201 Let2d] 207,786 174,098 33,688
01 At 22l 70,711 53,971 16,740
052 RANEs & A2 11,500
ORNES BZ 180,000& = 504 = 12& 10,800
O&IIE M= 140,000& * 500 =13l 700
O&J|etd2te| tHe===2  900,000& = 12& 10,800
Oigordae Hd>+2
1,000,000& * 12& 12,000
O&&D| et &e| X W=l 20,000& = 1H 20
oagord2 Xt W=H| 200,000& » 3H 600
O&I| etM ek W=l 150,000& * 29 300
O&EIIZHl BIIZAH & HHAE =2
6,000,000& = 13l 6,000
OdYsI| HIIZA=xZ
350,000 * 2CH = 13 700
OZAIIJA HIIFEA =2
350,000& * 2 = 13 700
O=2gd HESAM =2
185,000&  2CH = 13l 370
OM=Zx A Y =2
7,960& * 330 * 23| 5,254
ON=+=x & s+ =EZAN=x2 400
OM===x 100,000& * 1A * 13 100
Osx=& 100,000& * 34 = 18] 300
OYWsI| etd2e| Xt | E =
550,000& = 1H 550
o2, JtAetA2e X W=l
46,000& » 29H 92
OH=EEFTANE 2T ] =8
40,000& » 14H 40
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M AlDIO] MEH EH =2 (22 X4
Cel 230l HASE B AL JE X4 (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OFSX AU =2 (3HD)
14,000& * 300m 4,200
OW=2dY MUR dets22
16,500,000 * 1JH 2 16,500
OMBONY AUBIIE 5 448
660,000 » 10H A 660
O&W3IIE 22X W=l 25,0002 = 1H 25
23224l 137,075 120,127 16,948
OAgotd &3l 60,000& = 3H 180
OdJ|etA 2| X+ &3l 100,000 * 2% 200
OHIAZAI HAZHI(ER) 1,286& * 4004 515
O20AIE &II4Hl SXUl
7,000,000& = 304 21,000
OJtAAIDHH A MU E I
100,000& * 13/ 100
OJIA & AMHLH AIdE E=
50,000,000& * 1JH A 50,000
OAAE HHE 2oiAA
160,000& * 1087H & 17,280
OBZOIEE 222 HMZ L 2&AE Y|
2,500,000& = 1CH 2,500
OFESHAMNE RIS 15,000
OUERZ S&EH 2=+
2,500,000& * 200 £ 5,000
OdFNs & Stz 2+
2,000,000& * 200 £ 4,000
OFAMAIAE L CCTV B
2,000,000& * 30H 2 6,000
Oul=dY A7 HSI| M2 & FH
7,000,000& * 2CH 14,000
OUl=ded M2 & |
4,150,000& * 2CH 8,300
OOtEZE de=I A& ¥ Jbl
8,000,000& « 1CH 8,000
M = 8l 27,980 26,790 1,190
M= 8l 27,980 26,790 1,190
OLYXH & 2,000
(OEN-FSIIPAIN| 10,000& * 58 = 2004 1,000
O I H XM 20,000& = 108 = 504 1,000
(OFSPIPAIN & 6,800
Os7l L HIIR 40,000& * 55 » 100 2,000
O&AIA LED SHEZ= 50,000& = 80 4,000
OARIX ¥ HEI+
10,000& * 5& = 164 800
OFESH 228 FY 4,300
Osda Aol 2,000& = 550M 1,100
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M. AlQIQ] HET BEH =2 =22 =4
el 2otz 243 /A A4 Jlgt =4 (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Os= A2 800 * 450M 360
OARX & E 200,000& = 74 1,400
Osd 3328 30,000& * 304 900
osddd ¥ SR 3,000& = 180H 540
OR20UANE ARE 2¢ 1,500
OVEEQ 25 500,000& * 3& 1,500
O4&H A2 45 12 5,780
OF2H 4,000& * 3304 1,320
O™ 3t Al (30kg) 20,000& * 30 600
2 2Hl 6,000& * 1604 960
ow2g A=A 55,000& * 304 1,650
O&=H 25,000& = 50 1,250
O=2xXD 24 7,600
[OESPSE=y 35,000& * 200K 7,000
O&FF0E= 10,000& * 604 600
401 Al HIL 200 150,000 342,730 A 192,730
01 Al& H| 150,000 342,730 AN 192,730
O0=2dY ZI|IX3I|(AHU) B2 At
9,000,000& = 1090 2 90,000
OO0 AlY MI| SHIIELZ A
7,000,000& * 302 21,000
OW=2dY THHUH ZAIE & X3 At
7,800,000& * 5J0 A 39,000
SUAIE 22 205,740 540,396 N\ 334,656
201 YEr2 Y| 77,600 82,000 A 4,400
01 AR 2t 2l ] 10,000 32,000 A 22,000
OFFOEE RUANYE UM A
10,000,000& * 13 10,000
02 332494l 60,000 50,000 10,000
O34HE Rz 25,000,000 * 202 50,000
02942 10t 883 2,500,000 = 404 10,000
03 S AIS H H 7,600 0 7,600
ORUAAE MNEENH 29 7,600
OEEE2 ME(g4, EdotE 5)
7,000,000& = 13| 7,000
O2gey 2E= 60,000& * 10Y 600
206 M = Hl 19,840 16,480 3,360
01 X2t 19,840 16,480 3,360
ORUINIHKM & 3,040
OJIAHEX 2572 188 160,000& * 198 3,040
ORUZTYXNM 2 12,000
Oogz A 2= (650W) 30,000& * 60H 1,800




M. 0 (3H) - HEAY - B2 ﬁlf& HD=2
Ogz A I (1KW) 25,000& * 80JH 2,000
Ogz A I (2KW) 45,000& = 80H 3,600
Omb 2 (300W) 25,000& * 404 1,000
Ot 2 (1KW) 40,000& = 4004 1,600
O3 M= & (2KW) 1,000,000& = 24 2,000
SUHSEEXNN F 4,800
ootola(ss) Aol 6,000& = 300m 1,800
oALAHAOE 6,000& = 100m 600
ootola AEE 150,000& = 64 900
OsS&dd ¢ SR 11,000& = 10074 1,100
omoroa A3 8,000& = 5004 400
401 Al Bl 2 0HHI 80,000 361,856 N 281,856
01 Al Hl 80,000 361,856 £281,856
OUEANY AZAE LEOAA S DABM
40,000,000& * 10 A 40,000
OEFOHEE XY CIHMOE Z2AHA WA
20,000,000& * 1JH 20,000
oOW=2dY cloiAS WH 2 A
20,000,000& * 1JH A 20,000
405 X+HoHF SHI 28,300 80,060 AN51,760
01 A&t =S F SHI 28,300 80,060 AN51,760
Ol=9odY ZHDLIH(EYHIA) DA 10,000
O3221 Xl 400,000& = 504 2,000
O4221 Xl 800,000& = 5CH 4,000
O6521 Xl 2,000,000& * 2CH 4,000
O=2¢2 TN A DA 1,100,000& = 3CH 3,300
OMSII 3,000,000& * 5CH 15,000
l=2dY BHYE UEAE EXSA 259,500 0 259,500
= 107,740
Al 151,760
401 Al HI L £ 0HHI 259,500 0 259,500
= 107,740
Al 151,760
01 A& HI 246,548 0 246,548
Ofl=2 MY EfZ LHAIL AXIS3A 246,548
O& X =2 AH(75KW) 215,480,000 = 10 A 215,480
= 107,740
Al 107,740
O&I| &L Oz ZA 20,000,000& * 1JH 2 20,000
O & A HI 235,480,000 * 4.70% 11,068
02 2eltl 12,952 0 12,952
Oflz=2 MY B LHAIE EX3A
235,480,000& * 5.5% 12,952
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M Alglo] H=S EH =2 ts32 =4
22 2HAE2E 243 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SHAE2Y 245t 857,564 820,479 37,085
= 10,000
J| 37,000
= 300,000
Al 510,564
AMazte 2 AIYPEHOHS 362,564 342,879 19,685
101 1A dl 321,984 224,707 97,277
04 JIZHHZ2Z2XNHEE S 321,984 224,707 97,277
O&FA & SHAFHH 223,489
OQAHI(DEXR)
60,2403 = 9H = 26 » 118 155,058
Oxd=g(ngx)
60,2402 » 9H » 5 » 118 * 150% 44,729
Og &5 0tHl 200,000& = 9% =« 23| 3,600
O4li AtslEE = 20,102
=03 199,787,000& * 4.5% 8,991
-—=20A22E 199,787,000& * 3.06% 6,114
AR H 6,114,000& * 6.55% 401
-NEEE™ 199,787,000& * 1.5% 2,997
- E o2 & 199,787,000& * 0.8% 1,599
OFXZHAIAE 2H 32,185
OJles 60,2403 * 2% x 26 » 7H 21,928
OFLY
6,030 * 2 * 2AI2t «» 262 * 7& * 150 6,585
%
OFE=FItHI 200,000& = 29¥ « 23] 800
o4 B&8= 2,872
-=20AHZ 28,513,000& * 4.5% 1,284
-SRALEE 28,513,000& * 3.06% 873
B3I RLEE 873,000& = 6.55% 58
-1ESE 28,513,000& * 1.5% 428
- A Mo 2 E 28,513,000& * 0.8% 229
O3d& etHE =0l 66,310
OoJlzs 30,1203 = 128 » 182¢ 65,783
O2gx 527
M EEE 65,783,000& * 0.8% 527
201 2et24d] 6,600 21,100 214,500
01 At 22l 6,600 11,100 A 4,500
O¥4 U BABY 28 M
90,000 » 9% =« 23 1,620
OFUAE 232HE Alx2te| 4,980
OZ20AIE 23UH8 27
5,000& * 38 * 128 2,100




2N 2028
Alglo] &

M. AlQIQ] HET BEH =2 =22 =4
el S0ANL2Y BAS CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O20AIE ¢ - 220 g2
48,000 = 504 = 128 2,880
203 &R =&H| 2,000 2,000 0
03 Al F=X AR =AH| 2,000 2,000 0
o230l dsgs =& 2,000,000 2,000
206 M = Hl 26,100 24,192 1,908
01 X2 Hl 26,100 24,192 1,908
OFHAES #+¢ 26,100
O2HI%2 208
3,000& * 1000 = 21& » 12& 7,560
OB ESAEX 38,000& = 1582t A « 128 6,840
OEY HILEE 350& = 1800 * 12& 756
OStEAS MEN 11,000& = 2704 = 128 3,564
OFHAE YUeH 11,000& * 4004 = 12€ 5,280
Os9E FHANME 30,000& * 70m 2,100
307 QI2t0| ™ 5,880 5,880 0
01222 Z bl 700 700 0
oRZUE 700
OFWAIE HIX 100,000& = 704 A 700
05 QIZtR E 2 5,180 5,180 0
ogdHA s 35& * 24,663m * 63| 5,180
H=odE 29l X 400,000 400,000 0
< 300,000
Al 100,000
201 et A | 400,000 400,000 0
< 300,000
Al 100,000
02 3524 H| 400,000 400,000 0
O20U AN dIR2 240,000, 000& 240,000
= 180,000
Al 60,000
OR20UAIE TAIIARZ 160,000, 000& 160,000
& 120,000
Al 40,000
gt x S22 ALY 85,000 0 85,000
Dl 37,000
Al 48,000
201 Bt A bl 85,000 0 85,000
Dl 37,000
Al 48,000
03 A2 E Y| 85,000 0 85,000
oflz2dd J&zsAH 85,000
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oZ2Hl(JI=&Hl)
8,000 * 28Y x 82 x 12& 21,504
OZ20WAIE Fo138Y| 330,000& = 12& 3,960
02 332494l 119,855 130,355 A 10,500
oRWR2 5,895
Ooget2H 300& * 10,000 3,000
OosJI2#H 1,930& * 1,500 2,895
OAHOIETV bl = 40,000& * 12& 480
OnsgLeReg2 20,000,000& * 13 20,000
OSHZIHE AIESE 9,480
OdHFHNMg MEg3H= 600,000& ~ 12& 7,200
Ouz=odyg U AMNEZS
190,000& = 12& 2,280
o4 - otk 23 7,000,000& * 12& 84,000
202 4] 29,568 23,760 5,808
01 2LHOHI 29,568 23,760 5,808
©J| =& bl
20,000& * 229 x 8 * 12& * 70% 29,568
203 &R =&H| 4,800 4,200 600
04 2SI L RF=AH| 4,800 4,200 600
OJ|l=H (302! 0l5t) 400,000 = 12& 4,800
405 XHAHE S| 13,100 9,500 3,600
01 AL 2B F SHI 13,100 9,500 3,600
OMEE 22Xt 9,900
Ozel Xt 500,000& * 3H 1,500
Oa it 300,000& = 28 8,400
03 2g 2Kt 150,000& * 1204 1,800
(OFAguRl 400,000& * 204 800
O ALZ TH 300,000& = 24 600




